## NOTICE

Please note that this bid from Lovelace Seeds, Inc. for solicitation FOR19\*3 was received at the Purchasing Division office prior to the established bid opening date and time as noted on the Purchasing Division's fax log. However, the bid was not publicly opened and read aloud.

Diane Holley-Brown

**Assistant Purchasing Director** 

Sept 10, 2018

From: Lovelace Seeds Inc.

1187 Brownsmill Rd

Elsberry Mo 63343

To Bid Clerk

Dept of Administration

Purchasing Division

2019 Washington St. E

Charleston WV 25305

Att: Bid CRFQ0305 FOR 1900000003 CLEMENTS STATE NURSERY 2018-2019

SOLICITATION CLOSES 2018-09-10 13:30:00

Fax number: 304-558-3970

Number of pages 7



Punchasing Divison 2019 Washington Street East Post Office Box 50120 Charleston, WV 25305-0130

State of West Virginia Request for Quotation 01 — Agricultural

F	roc Folder: 485245		
10		NBUM 1 - CLEMENTS STATE NURSERY 2018-2019	
Date Issued	roc Type: Central Purol Solicitation Closes	ase Order Sölichation No	Version
2018-09-05	2018-09-10 13:30:00	CRFQ 0305 FOR 19000000003	ż

BID CLERK

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST.E.

CHARLESTON

WY 25305

US

Vandor Name, Address and Telephone Number: Lovelace Seeds Inc 1181 Browns Mil Rd Elsbury Mo 63343

FOR INFORMATION CONTACT THE BUYER:

Michelle L Childers (304) 558-2063

mlchelle.Lchilders@wv.gov

Signature X Y LOU A FEIN#
All offers subject to all terms and conditions contained in this solicitation

FEIN# 43-1352945

DATE 9-10-18

Page: 1

FORM ID: WV-PRC-CRED-001

#### Addendum

Addendum No. 1 issued to modify the bid opening to 09/10/2018 at 1:30 PM EDT to allow agency time to answer vendor question.

#### End of Addendum

Request for Quotation

The West Virginia Purchasing Division is soliciting bids on behalf of Clement State Nursery. West Columbia WV to establish a one-time purchase contract for hardwood and confer seed for the 2018-2019 planting seeson. This will be a multi-vandor award.

ACCOUNTS PAYABLE DEPT OF COMMERCE FI	NANCE DIVISION	RECEIVING FORESTRY DIVISION OF	
BLDG 3 SUITE 600		624 FORESTRY DR	
1900 KANAWHA BLVD E			
CHARLESTON	WV25305	WEST COLUMBIA	WV 25287
US		US	

Line	Comm Ln Desc	Qty:	Unit Issue	Unit Price	Total Price
1 ·	CLEMENTS STATE NURSERY 2018-2019 HARWOOD AND	1.00000	LS		10001

Comm Code	Manufacturer	Specification	Model #.	
10150000	,		WICHTEN D.	il.
	j.			
		- Carlot		

#### Extended Description:

2019 HARDWOOD AND CONIFER.

Yender will enter the Total Bid Amount from the Exhibit A Pricing Page on this line.

L'ovelace Seeds Inc 1187 BrownsMilled Elsberry MO63343

#### Exhibit A Pricing Page Hardwood and Conifer Seed

-	Clements Seed Needs Fall 20	)18	T			
Item#	Common Name	Scientific name	Unit of Measure	Unit Cost	Pounds required	Extended Cost
3.1.2. <b>1</b>	Red Oak	Quercus rubra	per pound	\$2.95	500	\$1,475.00
3,1.2.2	White Oak	Quercus' alba	per pound	\$1.90	3,000	\$5,700.00
3.1.2.3	Chestnut Oak	Quercus prinus	per pound	\$3.95	500	\$1,975.00
3.1.2.4	Black Walnut	Juglans nigra	per pound	\$2.30	2,000	\$4,600.00
3.1.2.5	Sawtooth Oak	Quercus acutissima	per pound	\$4.50	100	\$4,800.00
3.1.2.6	Butternut	Juglans Cinerea	per pound	\$5.50	250	
3.1.2.7	Black Cherry	Prunus serotina	per pound	\$20.75	150	\$1,375.00 \$3,112.50
3.1.2.8	Sugar Maple	Acer saccharum	per pound	\$17.50	150	\$2,625.00
3.1.2.9	Shagbark Hickory	Carya ovata	per pound	\$3.95	750	\$2,962.50
3.1.2.10	Red Maple	Acer rubrum	per pound	\$28.50	100	\$2,850.00
3.1.2.11	Sycamore	Platinus occidentalis	per pound	\$30.25	20	\$605.00
3.1.2.12	River Birch	Betula nigra	per pound	\$44.00	10	\$440.00
3.1.2.13	Black Locust	Robinia pseudoacacia	per pound	\$12.75	60	\$765.00
3.1.2.14	Silky Dogwood	Cornus amomum	per pound	\$20.60	20	\$412.00
3.1.2.15	Chinese Chestnut	Castanea mollissima	per pound	\$5.75	200	\$1,150.00
3.1.2.16	Redbud	Cercis canadensis	per pound	\$24.50	40	\$980.00
3.1.2.17	European Black Alder	Alnus glutinosa	per pound	\$0.00	6	\$0.00
3.1.2.18	Virginia Pine	Pinus virginiana	per pound	\$0.00	3	\$0.00
3.1.2.19	White Pine	Pinus Strobus	per pound	\$0.00	25	\$0.00
3.1.2.20	Norway Spruce	Picea abies	per pound	\$0.00	20	\$0.00
3.1.2.21	Scotch Pine (Spanish)	Pinus sylvestris	per pound	\$0.00	2	\$0.00
.1.2.22	American Plum	Prunus americana	per pound	\$20.25	225	\$4,556.25
	Hazlenut	Corylus americana	per pound	\$24.50	250	\$6,125.00
.1.2.24	Black Chokeberry	Aronia Melanocarpa	per pound	\$160.00	2	\$320.00
			Tota	Bid Amount		\$42,478.25

<sup>\*\*\*</sup>Total Bid Amount will be used to help vendors submit bids electronically in wvOASIS. If submitting bid electronically, enter total bid amount in commodity line and attach Exhibit A Pricing Page. Enter a zero (0) or "no bid" on the items you are not bidding. \*\*\*

Contract Administrator and the initial and the	
Contract Administrator and the initial point of contact for matters relating to this Contract.	
0 1 4 1 10	

(Name, Title)

Judy Lovelace VP

(Printed Name and Title)

1181 BROWNSMILL RD FLSBERRY MO 6384

(Address)

573-898-2103 573-898-2855 4AX

(Phone Number) / (Fax Number)

(email address)

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

Company)

(Company)

(Authorized Signature) (Representative Name, Title)

Judy LoveLace V. P

(Printed Name and Title of Authorized Representative)

9-10-18

(Date)

573-898-2103

Faf 573-898-2855

(Phone Number) (Fax Number)

# West Virginia Ethics Commission Disclosure of Interested Parties to Contracts

(Required by W. Va. Code § 6D-1-2)

Name of Contracting Business Entity: Lavelace Supporters: 1181 Brownsmill R
211 24
_ Zlstery MO 6334
Name of Authorized Agent:     Sully Lovelace Address:   1878 rownsmill
Contract Number: Contract Description:
Governmental agency awarding contract:
Check here if this is a Supplemental Disclosure
List the Names of Interested Parties to the contract which are known or reasonably anticipated by the contracting business entity for each category below (attach additional pages if necessary):
1. Subcontractors or other entitles performing work or service under the Contract
☐ Check here if none, otherwise list entity/individual names below.
2 Amy management and additional to the second secon
2. Any person or entity who owns 25% or more of contracting entity (not applicable to publicly traded entities)
☐ Check here if none, otherwise list entity/individual names below.
Gobert Lovelace
Gudy Lovelace
41 /1
<ol> <li>Any person or entity that facilitated, or negotiated the terms of, the applicable contract (excluding legal services related to the negotiation or drafting of the applicable contract)</li> </ol>
Chock here & need the safe that the safe that the applicable contract)
Check here if none, otherwise list entity/individual names below.
Signature: Date Signed: 9-10-18
Notary Verification
State of Missouri County of Lincoln
. Judy Lovelace the authorized agent of the contracting business
entity listed above, being duly sworn, acknowledge that the Disclosure herein is being made under oath and under the penalty of perjury.
penalty of perjuty.
Taken, swom to and subscribed before me this 1040 day of September, 2020
Gorda K. Well
To be completed by State Agency:  Notary Public's Signature
Date Received by State Agency:  Rondak Her
Date submitted to Ethics Commission:
Governmental agency submitting Disclosure: May 13, 2020
Lincoln County

### STATE OF WEST VIRGINIA Purchasing Division

### **PURCHASING AFFIDAVIT**

CONSTRUCTION CONTRACTS: Under W. Va. Code § 5-22-1(i), the contracting public entity shall not award a construction contract to any bidder that is known to be in default on any monetary obligation owed to the state or a political subdivision of the state, including, but not limited to, obligations related to payroll taxes, property taxes, sales and use taxes, fire service fees, or other fines or fees.

ALL CONTRACTS: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contacted any tax administered pursuant to chapter elaven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has provisions of such plan or agreement.

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to into a repayment agreement with the insurance Commissionar and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (W. Va. Code §61-5-3) that: (1) for construction contracts, the vendor is not in default on any monetary obligation owed to the state or a political subdivision of the state, and (2) for all other contracts, that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

WITNESS THE FOLLOWING SIGNATURE:	v
Vendor's Name: Lovelace Seeds Inc.	
Authorized Signature: July Levelse Date	9-10-18
State of Missouri	2
County of Lincoln to-wit:	
Taken, subscribed, and sworn to before me this bull by of September	20_18
My Commission expires Mary 13 . 2020	_
AFFIX SEAL HERE  RONDAK HEIL NOTARY PUBLIC  NOTARY  May 13, 2120	Purchasing Affidavit (Revised 01/19/2018)

Lincoln County
Commission #12340662

No.	Destination	Mode	Start	Time	Comm. Time	Page(s)	Result	Note
0003 0001 0001 0004 0003 0002	4197569000 3046757405 8005639725 8005639725 8005639725 3045682999	Normal Normal Normal Normal Fine Normal Fine Fine Fine	09/06 09/04 08/30 08/24 08/16 08/02 08/02	2018 12:20pm 2018 12:19pm 2018 01:07pm 2018 11:17am 2018 12:15pm 2018 09:29am 2018 03:35pm 2018 03:31pm 2018 03:27pm 2018 01:10pm	02'04" 00'25" 01'00" 02'26" 00'25" 00'33" 00'36"	7 8 2 7 7 1 1 1 1	######################################	
0005 0004 0003 0002 0001 0001	3048466828 7246256607 7246256607 7246256607 3048466828 3048466828 8042611040 +442078068315	Fine Normal Normal Normal Fine Fine Normal Normal Normal	08/01 08/01 08/01 08/01 07/30	2018 11:47am 2018 11:43am 2018 11:40am 2018 11:37am 2018 11:20am 2018 11:28pm 2018 01:28pm 2018 02:04pm 2018 04:04pm 2018 01:51pm	01' 40" 01' 43" 10' 16" 10' 26" 01' 01"	93333992129	*#####################################	
0005 0004 0003 0002 0001 0003 0002 0001 0008 0007	13043974178 8602190619 51 51 51	S-Fine Normal S-Fine Normal Normal Fine Fine Fine Fine S-Fine	07/16 07/16 07/13 07/13 07/13	2018 01:41pm 2018 01:37pm 2018 01:22pm 2018 01:11pm 2018 12:46pm 2018 11:24am 2018 11:20am 2018 11:16am 2018 05:21pm 2018 01:35pm	09'05" 21'05" 00'56" 00'56" 00'56" 08'10"	6 9 29 31 157 1 1 1 22 28	# R. 4. 2 # R. 4. 2 * 0 K * R. 3. 1 * R. 3. 1 * R. 3. 1 0 K	
0003 0002 0001 0002 0001 0001	17183609627 17183609627 17183609627 3048422634 7248328218	Normal Normal Fine Fine Normal Normal Normal Normal Fine Normal	07/12 07/12 07/12 07/12 07/12 07/11 07/09 07/03	2018 11:22am 2018 11:14am 2018 11:01am 2018 10:58am 2018 10:55am 2018 10:32am 2018 12:07cm 2018 09:57am 2018 07:24am 2018 03:58pm	00'41" 00'52" 00'52" 00'52" 02'56" 00'20" 02'59"	1 1 1 1 19 1 28 11	* * R.	
0004	3048422634 14127741516	Normal Normal Normal Normal Fine Normal Fine	06/25 06/22 06/21 06/19 06/15	2018 08:53am 2018 10:52am 2018 09:22am 2018 10:08am 2018 06:54am 2018 09:36am 2018 07:41am	00'51" 00'25" 03'45" 06'49" 00'49"	15 3 2 21 15 5	# 0 K # 0 K # 0 K # 0 K # 0 K R.3.1	

No. Destination	Mode	Start	Time	Comm.	Time	Page(s)	Result	Note
0002 14127741516 0001 14127741516 0005 3044876318 0004 0001 0001 8008064508 0002 0002 7246256607 0001 3048466828	Fine Fine Normal Normal Normal Normal Normal Normal Normal Normal	06/15 06/08 06/08 06/05 05/31 05/29 05/29 05/25	2018 07:38:2018 07:35:2018 12:10:2018 09:19:2018 01:12:2018 01:26:2018 01:26:2018 01:59:2018 01:59:2018 02:11:50:11:5018 02:11:5018 02:11:5018 02:11:5018 02:11:5018 02:11:5018 02:11:5018 02:11:5018 02:11:5018 02:11:5018 02:11:5018 02:11:501	um 00'48 um 10'43 um 00'34 um 05'15 um 00'26 um 00'24 um 01'32 um 09'48 um 02'12	33 31 33 33 33 33 33	1 51 2 34 2 1 10 9	R.3.1 KKKKKKK ##00K ##00K	
0004 0001 +34960130464 0002 0001 0001 0002 4074051728 0001 3049849488 0010 3044644013 0009 18134342020	Normal Normal Fine Normal Fine Normal Normal Normal Fine	05/22 05/21 05/18 05/18 05/16 05/14 05/11 05/10 05/10	2018 01:04p 2018 10:58p 2018 10:14p 2018 09:21p 2018 12:20p 2018 09:41p 2018 02:21p 2018 08:39p 2018 11:22p 2018 10:44p	m 01'10 m 00'31 m 00'59 m 00'20 m 25'10 m 01'21 m 00'29 m 00'50 m 00'49	11 17 17 17 17 17 17 17 17 17 17 17 17 1	7 1 2 1 42 9 1 6 3	# 0 0 0 K K K K K K K K K K K K K K K K	
0008 18134342020 0007 18134342020 0006 18134342020 0005 18134342020 0004 18134342020 0003 18134342020 0002 18134342020 0001 18134342020 0002 3047558280 0001	Fine Fine Fine Fine Fine Fine Fine Normal	05/10 05/10 05/10 05/10 05/10 05/10 05/10	2018 10:41a 2018 10:38a 2018 10:10a 2018 10:07a 2018 10:04a 2018 09:55a 2018 09:55a 2018 09:55a 2018 03:23p 2018 12:08p	m 00'49 m 00'49 m 00'49 m 00'50 m 00'49 m 00'48	, , , , , , , , , , , , , , , , , , ,	1 1 1 1 1 1 1 1 2	R. 3. 1 R. 3. 1	
0002 0001 0005 0006 0007 3045290280 0004 99 0002 WV PURCHASING DI 0001 6144447224 0001	Normal Normal Normal Normal Fine Normal Normal Normal Fine	05/04 05/02 05/01 05/01	2018 03:38p 2018 03:28p 2018 01:21p 2018 03:18p 2018 04:30p 2018 03:56p 2018 12:02p 2018 02:58p 2018 02:58p 2018 02:58p 2018 12:53p	m 00'36' m 00'21' m 01'45' m 21'31'	· ·	2 2 3 1 10 72 1 2 12	000####### KK000000KKKKKKKKKKKKKKKKKKKK	
0008 6144447224 0001 0002 WV PURCHASING DI 0001 3047669336 0008 3045345888 0003 0003 3523723435		04/25 04/24 04/16 04/16 04/12 04/12	2018 12:43p 2018 02:37p 2018 11:45a 2018 08:55a 2018 01:20p 2018 09:40a 2018 01:41p	m 00'23' m 00'36' m 00'15' m 07'22' m 02'43' m 00'23'		1 2 1 14 12 1 39	# 0 K # 0 K * 0 K * 0 K # 0 K	

No.	Destination	Mode	Start	Time	Comm. Ti	me Page(s)	Result	Note
0002 0001 0003 0002 0001 0002	3523723435 3048422634 6506556633 18013827592	Normal Fine Normal Normal Fine Fine	04/11 04/06 04/06 04/06	2018 01:26; 2018 09:59; 2018 09:42; 2018 09:38; 2018 08:58; 2018 11:39;	m 06'10" m 03'53" m 03'18"	38 13 21 18 37	# 0 K * 0 K # 0 K * 0 K * 0 K	